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Xl 400,000
< 200,000
01 AXSHHMA2E = 600,000 600,000
O1IAT 1THEN2ZX =& (g2 600,000
X 400,000
< 200,000
IVMMEESEEZ =4 475,000 475,000
= 475,000
403 MHXISHHE X201 & 475,000 475,000
= 475,000
01 XM A=2EE 475,000 475,000
O=JtMEegs 24 (0 475,000
= 475,000
=& =4 250,000 250,000
= 250,000
403 XIS E X201 & 250,000 250,000




A= A== 2 ¢ XA AMEf
HMa: TOIME 2 23
S MEz22Ed (&2 &)
S 2N BB (BH) - SN - B2 0 Ak o8 ﬁlf& HDS2
= 250,000
01 MXHHMAEE = 250,000 0 250,000
O SZHAIESK Hz2E X4 250,000
= 250,000
OlES+ MESE =4 300,000 0 300,000
Xl 300,000
403 XX S M S K201 A 300,000 0 300,000
Xl 300,000
01 XIS A2 X 300,000 0 300,000
O0lsss MH=d =4 300,000
Xl 300,000
JIEHE s 2,811,800 3,018,325 N 206,525
= 2,298,500
= 513,300
HAINAXNSHE S 546,000 916,825 N 370,825
= 420,000
= 126,000
308 AHXI S M SO0l & 210,600 145,600 65,000
= 162,000
o= 48,600
01 AXHNBMNEXZ 210,600 145,600 65,000
OFHINA HEH BE=X 210,600
= 162,000
& 48,600
403 RXI S A E X =0l & 335,400 771,225 435,825
= 258,000
== 77,400
01 AAXHHE2BE = 335,400 771,225 N 435,825
OHAAINA TS BEZ2(HF, 24 QA 335,400
= 258,000
= 77,400
HIIXNSXHEZ & I} 2= 158,300 266,500 A 108,200
= 128,000
o= 30,300
201 YBt2 Ayl 1,500 1,500 0
02 35244l 1,500 1,500 0
O&IIXNsSXAH B8 & sSH)| MES 1,500
403 XX S S K201 A 156,800 265,000 A 108,200
= 128,000
= 28,800
01 HXHNMAHEE = 156,800 265,000 A 108,200
O &IXsXH 23 156,800
= 128,000
== 28,800




A= g3=sX= M ¢ Rh A EH It
HMa: TOIME 2 23
Sl DSBS 0HS CERED
AR SA Y- SAEA) - HRAY - BES 0l &t o il Bl RE2
JIZHSHS ALY (KA 8,000 68,000 A 60,000
201 £B-2d| 8,000 8,000 0
01 At 22l 8,000 8,000 0
OJI=dsateds 29 8,000
E2Z2 HAMHX H2ZALS 240,000 100,000 140,000
= 240,000
403 X SHHS =0l & 240,000 100,000 140,000
= 240,000
01 X SHMA2E X 240,000 100,000 140,000
OS2 HIAHX MAZEH &= 240,000
= 240,000
H=sAHU ESAY 84,000 0 84,000
= 75,000
< 9,000
403 Mt S E X201 & 84,000 0 84,000
= 75,000
< 9,000
01 X SHHXN2E= 84,000 0 84,000
OMd=sAHU X K& 84,000
= 75,000
S 9,000
HII0IEX ES ALY 22,500 0 22,500
= 22,500
403 UHXISHHSA=0l& 22,500 0 22,500
= 22,500
01 X ESHHMA=LE L 22,500 0 22,500
O&IIOIER B2 22,500
= 22,500
HASRE 24tA A 248 X2 225,000 190,000 35,000
= 175,000
< 50,000
307 glz2+ol & 100,000 80,000 20,000
= 50,000
< 50,000
02 It M AHEE 100,000 80,000 20,000
OdE JEAEHE HWE<3A XA 100,000
= 50,000
< 50,000
308 XX EHH SOl A 125,000 110,000 15,000
= 125,000
01 X HHILEXS 125,000 110,000 15,000
OAl.2 JBAEE HWERK3a XN& 125,000
= 125,000




AR BP=XZ S Xbot M Eq Dt
S NGHME 92 235t
Sl DSBS 0HS CERED
AR .24 B BAGEN) - NRANY - BES Ol &k o8 il HlnE2
JI=8s WEdH 2EXE 76,000 80,000 A 4,000
= 38,000
< 38,000
307 gl2tol & 76,000 80,000 A 4,000
= 38,000
< 38,000
02 It HAHE L 76,000 80,000 A 4,000
OJIZHSNEMEH 23 76,000
= 38,000
< 38,000
SHATOEN=2Z 882,000 784,000 98,000
= 630,000
< 252,000
308 XXM S0l A 882,000 784,000 98,000
= 630,000
< 252,000
01 IXNHHBANEES 882,000 784,000 98,000
OEAZOEN 29 882,000
= 630,000
< 252,000
BEIEZANE BASE Z20Y 85,000 413,000 A328,000
= 85,000
403 XIS E X201 & 85,000 413,000 A 328,000
= 85,000
01 X EHHMA=LE XL 85,000 413,000 328,000
OSEIZAE BHEZ AE AXAY 85,000
= 85,000
3302 2AIA ZEAY 50,000 100,000 A 50,000
= 50,000
403 Ut SHHSA=0l& 50,000 100,000 A 50,000
= 50,000
01 HXSHMA=E X 50,000 100,000 A 50,000
O33J& 24=3t 50,000
= 50,000
NAH JI=8s HSHH XA 100,000 100,000 0
= 100,000
403 MtXSHHE X0l & 100,000 100,000 0
= 100,000
01 X SHMA=2E X 100,000 100,000 0
OJIZEBg orMOtE 24 (R0 100,000
= 100,000
NXH JISSHEUHS KA (EIOALYS) 335,000 0 335,000
2 335,000
403 XIS S X201 & 335,000 0 335,000
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N = 0l & At & M A

e 20a Lee ) #d=sN= ~ #d3=si=

s#d=X= FN o SE83 22
LT B
SEEHGY =2 CERED
- _ — d =
CRN I S(EH) - MRAY - BYS 0] &k o4 e HlDE2
Zzel 88,232,640 89,734,284 A 1,501,644
= 58,556,000
Xl 27,081,000
J| 68,100
< 2,527,540
=224 2| 88,073,000 89,590, 334 A 1,517,334
= 58,556,000
Xl 27,081,000
J| 68,100
< 2,367,900
AEMUH =N 1,475,000 1,318,014 156,986
Xl 700,000
< 775,000
Zaedl =& XA 180,000 180,000 0
307 21201 A 180,000 180,000 0
02 B AAHE X 180,000 180,000 0
OoZaeldl=& X3 180,000
A SAAEY 700,000 700,000 0
Xl 700,000
308 A EHHSOIA 700,000 700,000 0
X 700,000
01 HXNHHNBHELS 700,000 700,000 0
o =& =AY 700,000
Xl 700,000
AR oMl MM 2 10,000 0 10,000
201 Lt 10,000 0 10,000
01 At 2t 2l 10,000 0 10,000
O&ZI NH23 < 500,000& *43] 4K 2 8,000
O+=2l Bt Y FoUHEY3
500,000 *4H & 2,000
A= K20 ALY XI& 547,000 430,014 116,986
308 XtXIEHHSOIA 547,000 430,014 116,986
01 XML EES 547,000 430,014 116,986
OZdaax2 XNAO0AY XA 547,000
3 8 &= 29 ¢ Ha 30,000 0 30,000
308 MtXIEHMSOIH 30,000 0 30,000
01 HXNHHBHEELS 30,000 0 30,000
O ®= &= 49 ¢ U3 30,000
EHRAYE =& D123l 8,000 8,000 0
202 Odl 8,000 8,000 0
01 = LH 4 Hi 8,000 8,000 0




AF: BA=XZ SN 2BID
HE: 2ARH e
R R IVEE S (B9 ®R)
AR .24 BB OEH) - NEAY - BAS 0 AF o ﬁlf& HDS2
[]  o=z=dnm =3 8.000
Mol AN E=E 78,002,700 82,257,700 A 4,255,000
= 57,973,000
Xl 19,581,000
& 448,700
220t Hdel & ARl 1,214,000 2,442,000 A 1,228,000
= 1,000,000
T 214,000
403 XX S M S X201 A 1,214,000 2,442,000 A 1,228,000
= 1,000,000
= 214,000
01 MXHHNE2E = 1,214,000 2,442,000 N 1,228,000
O23otx=Xel & & 1,214,000
= 1,000,000
= 214,000
otEXeld sAde=2 A& 48,000 1,200,000 A 1,152,000
= 48,000
308 XX SHAHSOIH 48,000 1,200,000 A 1,152,000
= 48,000
01 AIXHMBAEXZ 48,000 1,200,000 A 1,152,000
Odtx=Held skIcl=a As 48,000
= 48,000
olx=2& BTLYUHE X& 1,601,000 1,601,000 0
= 1,601,000
308 AXISHXMSOIH 1,601,000 1,601,000 0
= 1,601,000
01 AXHNBMNEXTZ 1,601,000 1,601,000 0
Obdtx=&2 BTL S XN& 1,601,000
= 1,601,000
SHE Ot2ot=& &bl 17,883,000 11,998,000 5,885,000
= 17,883,000
403 XX S M S X201 A 17,883,000 11,998,000 5,885,000
= 17,883,000
01 AkXISHMA2E X 17,883,000 11,998,000 5,885,000
OsUHE OtZ26t=% &EH|AH 17,883,000
= 17,883,000
otz HUlAY 37,011,000 28,128,000 8,883,000
= 37,011,000
403 XX SHH S K201 37,011,000 28,128,000 8,883,000
= 37,011,000
01 XIS AE2E X 37,011,000 28,128,000 8,883,000
Odtx=&Z HUIALY 37,011,000
= 37,011,000




A= g3=sX= FN o SE83 22
HE: 2ARH e
Chel: Mot A EEE (&)
AR SA Y- SAEA) - HRAY - BES 0l &t o il Bl RE2
Ceot=2E LA NE 430,000 0 430,000
= 430,000
308 AHAIEHHSOIA 430,000 0 430,000
= 430,000
01 HXNHHBHELS 430,000 0 430,000
OL=Zot=22 FLXZA 430,000
= 430,000
A2 ot=5 FHIAY 30,000 0 30,000
403 MtXSHHS =0l & 30,000 0 30,000
01 X SHMA=2EE 30,000 0 30,000
OAE otk HUIAY 30,000
SOHE MEE+ MHEAMZ 10,459,000 22,539,000 A 12,080,000
Xl 10,459,000
403 MHXISHE X201 E 10,459,000 22,539,000 A 12,080,000
Xl 10,459,000
01 X SHHAN2E= 10,459,000 22,539,000 A 12,080,000
OsS0HE dEs8+= HEAMY 10,459,000
Xl 10,459,000
EAXS A3 JHEAY 1,540,000 1,772,000 A232,000
Xl 1,540,000
403 A X EHHSKH20IA 1,540,000 1,772,000 232,000
Xl 1,540,000
01 X EHHMA=LE L 1,540,000 1,772,000 A 232,000
OZEMXY A3 LAY 1,540,000
Xl 1,540,000
2B AEHEME X 6,832,000 6,785,000 47,000
Xl 6,832,000
403 XSS A=0l& 6,832,000 6,785,000 47,000
X 6,832,000
01 X SHMA=2EE 6,832,000 6,785,000 47,000
OARIE=TAENSAIS 6,832,000
Xl 6,832,000
DEFHEAE XA 390,000 0 390,000
Xl 390,000
403 MHXISHE X201 & 390,000 0 390,000
Xl 390,000
01 AXSHMA=2EE 390,000 0 390,000
OLE¥=HMeANME EXAY 390,000
X 390,000
d& 2ANG 2X0te Ny S5AY 360,000 360,000 0
Xl 360,000
403 A X EHHS 20l A 360,000 360,000 0
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A2 BA=T2 2N 2R
HE: 2ARH e
ool ABtATAIMES (B9 ®R)
- _ — d =
A .24 - B BAGEA) - NPAY - BES 0] &k o4 e HlDE2
Al 360,000
01 AXISHHA=2E = 360,000 360,000 0
O&Y ZAXNSG 2Nt N+ SSAHY 360,000
Xl 360,000
= e SFHE =8 I 100,000 0 100,000
207 A RO H] 100,000 0 100,000
01 A3 39 100,000 0 100,000
O =2 SEHH =8 &9 100,000
28 UESO0EAE M 95,500 92,500 3,000
403 A X EHHS 20l A 95,500 92,500 3,000
01 X ESHHMA=E L 95,500 92,500 3,000
Oad H=S0BAE ZHAEY 95,500
EHRAYE =& D123l 9,200 8,200 1,000
201 ¢et24l 1,000 1,000 0
02 =224l 1,000 1,000 0
O4dt=S & 3l 1,000
202 044l 6,000 5,000 1,000
01 = LH o4 1l 6,000 5,000 1,000
Odot== A4 &F =& 6,000
203 YR =&l 2,200 2,200 0
03 AIMF=XH R =AH| 2,200 2,200 0
O4dt=ZAlE &5 =2 2,200
E2Xote 2el 930,000 962,420 A 32,420
=&2g e 3,000 1,000 2,000
206 M= Hl 1,000 1,000 0
01 M= 4l 1,000 1,000 0
SEIAD LHEH 2L 1,000
405 TtobF S 2,000 0 2,000
01 AL ESHSH 2,000 0 2,000
ODOmIEF & 2,000
SSAE HESEY SFAY 560,000 580,000 20,000
403 MHXISHHE X201 E 560,000 580,000 220,000
01 X SHHX2E= 560,000 580,000 220,000
OZZ3ANE HLstEA A 560,000
HeEdEssZdWHRESdHE U7 364,000 378,000 A 14,000
308 A EHHSOIA 364,000 378,000 A 14,000
02 8+=u2= 364,000 378,000 A 14,000
OYH=d8E =FIHNEFES F=HE =2 364,000




NEFE =V 2N 2sABY
HE: 2ARH e
Chel: E2 XI5 2tel (=& J)
AR SA Y- SAEA) - HRAY - BES 0l &t o il Bl RE2
ERAE =& D122l 3,000 3,000 0
202 O4dl 3,000 3,000 0
01 = LH 4 Hi 3,000 3,000 0
OE2Xdts HRFZ 3,000
= 2tel 7,665,300 5,052,200 2,613,100
= 583,000
Xl 6,800,000
J| 68,100
< 214,200
sz JI2HE =8 89 200,000 0 200,000
207 O] 200,000 0 200,000
01 289 200,000 0 200,000
Os=zaclI2HE 8893 200,000
HE2E M2ZA4d &X 583,000 450,000 133,000
= 583,000
403 MtXISHHE X201 & 583,000 450,000 133,000
= 583,000
01 AXSHMA=2EE 583,000 450,000 133,000
OHIZ2EMZAIE &1 583,000
= 583,000
MEHSIE SJAALS 6,800,000 4,518,000 2,282,000
Xl 6,800,000
403 UM E X201 H 6,800,000 4,518,000 2,282,000
Xl 6,800,000
01 X EHHMA=E L 6,800,000 4,518,000 2,282,000
OMEHSIE =& ALY 6,800,000
Xl 6,800,000
sZ=H U ALY 3,600 3,000 600
J| 3,600
202 Odl 3,600 3,000 600
Jl| 3,600
01 = LH 4 Hi 3,600 3,000 600
O3g=H2el HRFL bl 3,600
J| 3,600
sE=H LEEE2elAY 50,000 50,000 0
J| 50,000
101 124 dl 50,000 50,000 0
J| 50,000
04 JI2ZtHZ22HEE =+ 50,000 50,000 0
Osd+H S| 25 2| 50,000
J| 50,000
A2l 2L 24| 9,500 11,000 A 1,500
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==
A £ O & Ak E Al
S =04 LESH BE=sX= ~ #E=sN=
2=X= M AE =X
ARG UL YRR 23
YNEES L HHISYF CEEEED
= - — SHE]|
SN B E(BH) - NREMY - BYS 0l &k 24 e bl D=2t
X 59,818,417 64,403,696 A4,585,279
= 34,674,223
Xl 11,825,000
< 13,319,194
e ¥ AT HH A3 57,071,835 61,480,677 A 4,408,842
= 34,674,223
X 9,275,000
< 13,122,612
AAEEE & FH)|sLE 846, 141 934,602 A 88,461
= 510,452
< 335,689
HMHIASR(XH) 352,108 454,035 A 101,927
= 270,864
< 81,244
308 XtXIEHH SOl A 352,108 454,035 A 101,927
= 270,864
< 81,244
01 IXNHHEBANEES 352,108 454,035 A 101,927
OLEMHIAZ=201 (1400 AIZ 65 38%) 352,108
= 270,864
= 81,244
SMMESAH(RE) 79,412 79,412 0
= 55,588
< 23,824
101 @14 Hl 46,800 39,600 7,200
= 32,760
< 14,040
04 JIZHHZ2XRHEE S 46,800 39,600 7,200
OMKREEIFE B MEES(3Y) 46,800
= 32,760
< 14,040
201 Let24E] 18,612 25,812 AT7,200
= 13,028
< 5,584
01 At 22l 14,612 20,812 26,200
OMREIEEE B=E 24 14,612
= 10,228
< 4,384
02 =224l 4,000 5,000 A 1,000
OMREZZEE B2SE MERSUH 4,000
= 2,800
< 1,200
202 o4dl 14,000 14,000 0
= 9,800
< 4,200
01 = LH &4 1l 14,000 14,000 0
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AEE EENE SN AYSRD
Ha: NNV L YA A5
Sl NYNREL L FI| S CERED
- _ — d =
A .24 - B BAGEA) - NPAY - BES 0] &k o4 e HlDE2
01 = LH 4 bl 13,341 13,341 0
Oz & 13,341
203 YR =2t 4,400 4,400 0
03 Al® =& Q@ =X 4,400 4,400 0
odgd=sige=za 4,400
405 XtatE SHI 1,500 0 1,500
01 AL ESFH S 1,500 0 1,500
Od&En 72¢ 1,500
agol U SHHXIA (KA 23,000 0 23,000
308 XXM SO A 3,000 0 3,000
01 HIXNHHNBNEES 3,000 0 3,000
O Yg=AHANEs XA 3,000
403 XIS E A= 0l& 20,000 0 20,000
01 X SHHAN2E = 20,000 0 20,000
ORF MUZXE SIANAY 20,000
tE= & 2332 24d 11,664,641 13,105,891 A 1,441,250
= 805,000
Xl 9,170,000
< 1,689,641
SANE=ZH(XE) 6,215,000 5,861,000 354,000
Xl 6,215,000
403 A X EHS =0l A 6,215,000 5,861,000 354,000
Xl 6,215,000
01 X HHMA=ZLE X 6,215,000 5,861,000 354,000
OZAN= & Jtz+ =4 6,215,000
Xl 6,215,000
AASAHT S (XKE) 500,000 970,000 A 470,000
Xl 500,000
403 MtXSHHSA=0l& 500,000 970,000 A 470,000
Xl 500,000
01 X SHHMA2E X 500,000 970,000 A 470,000
ONsLeTLB2A(2)HL) 500,000
Xl 500,000
=TS22 (X&) 1,882,000 1,952,000 A70,000
Xl 1,882,000
403 MRS E X201 E 1,882,000 1,952,000 A70,000
Xl 1,882,000
01 XM A=2EE 1,882,000 1,952,000 A70,000
O=Zxdzel(®=2 11HAI=Z. 9tkm) 1,882,000
X 1,882,000
SOt=HEAZTLE(XEH) 75,000 0 75,000
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AR BP=XZ SN MBS
HE: MYXREG U AAFW A5
Sl MESX Y REHBY E4 (B9 ®R)
AR SA Y- SAEA) - HRAY - BES 0l &t o il Bl RE2
Al 75,000
403 MtXISHHSA=0l& 75,000 0 75,000
X 75,000
01 XM A2E X 75,000 0 75,000
20tz ME2 XL (4 75,000
Xl 75,000
ANMASAXTH(XA) 250,000 250,000 0
Xl 250,000
403 UtXISHH S X201 & 250,000 250,000 0
Xl 250,000
01 XM A=2EE 250,000 250,000 0
ONMASAZTH (&) 250,000
X 250,000
Itz (XY) 150,000 75,000 75,000
= 120,000
< 30,000
403 XSS X201 & 150,000 75,000 75,000
= 120,000
< 30,000
01 X HMA=2E X 150,000 75,000 75,000
ORIstz=4 242 (2F S) 150,000
= 120,000
< 30,000
SHSSIMEEZL(X) 120,000 2,521,000 A 2,401,000
Xl 120,000
403 MtXISHH S =0l & 120,000 2,521,000 A 2,401,000
X 120,000
01 AXSHMA2E X 120,000 2,521,000 A 2,401,000
O=SMIAMEE =8(24) 120,000
Xl 120,000
Lieed 4 (X&) 128,000 38,000 90,000
Xl 128,000
403 MtXISHE X201 & 128,000 38,000 90,000
Xl 128,000
01 XM A=2EE 128,000 38,000 90,000
ousdxzd(2M4a, 2=, &) 128,000
X 128,000
MBENSHAEHITS(XH) 780,000 117,000 663,000
= 600,000
< 180,000
403 Mt S S X201 & 780,000 117,000 663,000
= 600,000
< 180,000
01 X ESHHMA=2LE L 780,000 117,000 663,000
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AR BP=XZ SN MBS
HE: MYXREG U AAFW A5
el ARES U MEEESH CER-ED
CRA - S(BH) - HRAY - B Ol &k o8 il HlnE2
= 2,320
< 3,480
403 UHXSHHSA=0l& 140,000 147,750 AT,750
= 56,000
< 84,000
02 SJ|1 2SO0l CHSH At 2 X CH & AF I 140,000 147,750 ANT,750
Ot=dstelsd N 140,000
= 56,000
< 84,000
A2 (XA 2,349,574 2,399,574 250,000
201 L2l 1,817,500 1,867,500 A 50,000
01 At 22l 1,817,500 1,867,500 A 50,000
Ott=dstE &I AXH(30) 1,817,500
02 OI=LTHAHE & 2 4,000 4,000 0
02 QIZHoITHGHE SR &EZ LS 4,000 4,000 0
OUHEUEUNTEZTSRIAB NS 4,000
308 XXM S0 A 528,074 528,074 0
01 HIXNHHBNEES 528,074 528,074 0
Ot =2ZAIE L A2 NF D140 A2, 2
&) 528,074
F3l MHIAZ 02l & A i 70,300 78,100 A7,800
= 70,300
308 XXX S0 A 70,300 78,100 A7,800
= 70,300
01 AXNSGHBLAEES 70,300 78,100 AT7,800
OArZI MEIAZOFIZA A H| (&=, 24, 2 Af) 70,300
= 70,300
sreldoi S (X)) 2,672,711 2,661,213 11,498
= 2,320,393
< 352,318
308 XXM S0l A 2,661,011 2,642,699 18,312
= 2,311,393
< 349,618
01 IXNSHHBNEES 2,661,011 2,642,699 18,312
Ot HHSLM (144 Al 3,721ha) 2,661,011
= 2,311,393
< 349,618
403 A X EHHS =0l A 11,700 18,514 26,814
= 9,000
< 2,700
01 X EHHMAZLE L 11,700 18,514 26,814
OUEEMHSEHI R (IMAIZ) 11,700
= 9,000
< 2,700




A3 B3=R= M AE =X
HE: MYXREG U AAFW A5
el ARES U MEEESH CER-ED
2 2A B E(AN) - MEAY - BYS Ol &k o8 il HlnE2
S ES A (X&) 14,427 10,444 3,983
= 14,427
308 AHAIEHHSOIA 6,444 6,444 0
= 6,444
01 HXNHHBHELS 6,444 6,444 0
OYWEU2t ESES(3MA) 6,444
2 6,444
403 XSS A0l & 7,983 4,000 3,983
= 7,983
01 XM A=2EE 7,983 4,000 3,983
OHFHZ ASZAZ NA (LR, 2F 166ha) 7,983
= 7,983
HEAESAME(HE) 1,000 1,000 0
= 1,000
202 odl 1,000 1,000 0
= 1,000
01 = LH o4 1l 1,000 1,000 0
OHEUAESES NE Al 1,000
= 1,000
HEAFRASKEAAS 355,824 355,824 0
= 315,288
< 40,536
403 RXISH S X =0l & 355,824 355,824 0
2 315,288
< 40,536
01 X SHMA2E X 355,824 355,824 0
OMSHA=UAS KA ALY 355,824
= 315,288
< 40,536
DS SRAALX 351,000 441,000 90,000
2 351,000
403 MtXISHHE A0l & 351,000 441,000 A 90,000
= 351,000
01 XM A=2EE 351,000 441,000 290,000
ODISat MSRAAS (LA 351,000
= 351,000
AP ohE 2te| 11,770 0 11,770
= 5,885
= 5,885
405 Xtk S| 11,770 0 11,770
2 5,885
= 5,885
01 AL EFH S 11,770 0 11,770
OMHHESNLRAF (2T 2Y) 11,770
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AR BP=XZ SN MBS
HE: MYXREG U AAFW A5
el ARES U MEEESH CER-ED
= - — L=
2 2A B E(AN) - MEAY - BYS Ol &k o8 il HlnE2
= 5,885
< 5,885
MY FA J2ZH(MEES) 14,400 14,400 0
202 O4dl 14,400 14,400 0
01 = LHA YI 14,400 14,400 0
OZH 0ol &t 14,400
gas0Igt2d 2 =0s5 33,879,772 36,758,466 A2,878,694
= 26,987,765
X 105,000
< 6,787,007
M (XIE) 8,534,217 7,814,705 719,512
= 6,491,299
= 2,042,918
403 MHtXSHHSA=0l& 8,534,217 7,814,705 719,512
= 6,491,299
< 2,042,918
01 HXSHMA=2E X 8,534,217 7,814,705 719,512
O M (M2 13M AlZ, 2,590ha) 8,534,217
= 6,491,299
< 2,042,918
TEME(REY) 4,189,147 3,864,529 324,618
= 3,899,427
< 289,720
206 M= Hl 4,189,147 3,864,529 324,618
= 3,899,427
< 289,720
01 MHZ 4l 4,189,147 3,864,529 324,618
Oxgg =3¢ 4,189,147
= 3,899,427
= 289,720
HEA ASUMAHEEY) 20,000 20,000 0
201 Let249] 5,000 5,000 0
03 &AL S HI 5,000 5,000 0
OA=Y dA2EH S 5,000
401 Al B2 28I 15,000 15,000 0
04 S At2tE Al & HI 15,000 15,000 0
OMSUAATHZRY ¥ 227 15,000
MEIIAHE TS (XH) 17,662 6,384 11,278
= 12,616
< 5,046
308 KXIEH S0l A 17,662 6,384 11,278
= 12,616
< 5,046
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A= g3=sX= PN AE=TI
Ha: NNV L YA A5
Sl MEASIIBES 2 #ISLE EERED
- _ — d =
A .24 - B BAGEA) - NPAY - BES 0] &k o4 e HlDE2
01 HIXNHHNBHNEES 17,662 6,384 11,278
Oaz3LAHN&EAHE (5MMAIZ, 1,660ha) 17,662
2 12,616
< 5,046
I RII(KI&) 12,235,329 16,893,243 A4,657,914
= 9,430,601
= 2,804,728
403 MHXISHE X201 & 12,235,329 16,893,243 A4,657,914
= 9,430,601
< 2,804,728
01 X SHHN2E = 12,235,329 16,893,243 24,657,914
O= I RII(140 A2, 12,220ha) 12,235,329
2 9,430,601
S 2,804,728
I RI(AEY) 36,100 44,500 A 8,400
= 18,050
< 18,050
201 Let24d] 21,600 30,000 A 8,400
= 10,800
< 10,800
01 At 22/l 16,600 23,000 A 6,400
O=Jt3I| L9l 16,600
2 8,300
= 8,300
02 2324l 5,000 7,000 A 2,000
O=Jt31I| & RFRH 5,000
= 2,500
< 2,500
202 04 Hl 7,000 7,000 0
= 3,500
< 3,500
01 = LH 4 Hi 7,000 7,000 0
O=Jt3J dEXNALED 7,000
2 3,500
< 3,500
206 M= Hl 500 500 0
= 250
< 250
01 =4l 500 500 0
O=Jt1)| dAE a7 500
= 250
< 250
303 &3 7,000 7,000 0
2 3,500
< 3,500
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M ox
40 5 4

HY=X= SN AY=TD
ARG U YHEA 25
SYASIIBES o II525

2 2A B E(AN) - MEAY - BYS Ol &k o8 il HlnE2

01 Z& 3 7,000 7,000 0
O= I AIZEI M3 7,000
= 3,500
< 3,500

STHOIZ X (X ) 2,228,300 2,562,100 333,800
= 1,697,060
< 531,240

308 XXIEHH SOl A 11,460 19,300 AT,840
= 11,460

01 IXNHHBANEES 11,460 19,300 AT,840
OSMoIE Hul2A2(5Y) 2,460
2,460
O=HE S22l 9,000
= 9,000

403 RXI S A S X =0l & 2,216,840 2,542,800 325,960
= 1,685,600
< 531,240

01 XM A=2EE 2,216,840 2,542,800 A 325,960
OAHEHIOI2OH A (1490 Al 38 22801 4) 2,216,840
= 1,685,600
< 531,240

SHOISXNA (YY) 1,000 1,000 0
= 1,000

202 odl 1,000 1,000 0
= 1,000

01 = LH 4 1l 1,000 1,000 0
O=2Ms s&&el 8% 1,000
= 1,000

AAINHBH E2(XS) 71,500 305,425 A 233,925
= 55,000
< 16,500

403 HtXSHHSA=0l& 71,500 305,425 A 233,925
= 55,000
< 16,500

01 HXSHMA=E X 71,500 305,425 A 233,925
OLGIAHEHES 71,500
= 55,000
< 16,500

S MBI (XR) 1,185,000 0 1,185,000
= 1,050,000
< 135,000

403 MtXISHHE X201 & 1,185,000 0 1,185,000
= 1,050,000
< 135,000

01 XS M A=2EE 1,185,000 0 1,185,000




AEE EENE SN AYSRD
Ha: NNV L YA A5
Sl MEASIIBES 2 #ISLE CERED
- _ — d =
A .24 - B BAGEA) - NPAY - BES 0] &k o4 e HlDE2
O &MEZHEX 1,185,000
= 1,050,000
< 135,000
APAFER Ol (K1 &) 304,507 0 304,507
2 234,240
= 70,267
308 XXM SOIA 304,507 0 304,507
2 234,240
< 70,267
01 X HHBILEES 304,507 0 304,507
OQ/TALEY S A7) 29 304,507
= 234,240
< 70,267
U EEX 130,000 130,000 0
= 100,000
< 30,000
403 A X EHS =0l A 130,000 0 130,000
= 100,000
< 30,000
01 X EHHMA=ZLE L 130,000 0 130,000
O=UTHEEZE ALY 130,000
2 100,000
< 30,000
S S 336,000 224,000 112,000
= 300,000
= 36,000
403 MtXISHH S =0l & 336,000 224,000 112,000
2 300,000
S 36,000
01 AXISHHA=2E = 336,000 224,000 112,000
OSTHAY S UHSHALY 336,000
= 300,000
< 36,000
AMEREXA(XH) 1,760,918 700,313 1,060,605
= 1,465,322
< 295,596
403 XIS E X201 & 1,760,918 700,313 1,060,605
= 1,465,322
< 295,596
01 X SHHAN2E= 1,760,918 700,313 1,060,605
Ogut=rsSAE 1,760,918
= 1,465,322
= 295,596
MRS MM IS (XI) 2,559,778 1,414,556 1,145,222
=2 2,132,750
< 427,028
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